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Quiz 2                                                                                                                       Sec: 01
Name:                                                                         Id#:                                          S. No.
1. A contractor purchases a shipment of 100 transistors. It is his policy to test 10 of these transistors and to keep the shipment only if at least 8 of the 10 are in working condition. If the shipment contains 20 defective transistors, what is the probability that it will be kept?
2. During one stage in the manufacture of integrated circuit chips, a coating must be applied. If 70% of chips receive a thick enough coating. Find the probability that among 15 chips 

a. No less than 13 will have thick enough coating.

b. At most 2 will not have thick enough coating.

3. The yearly worldwide average number of air plane crashes of commercial airlines is 3.5. What is the probability that there will be 

a. More than 2 accidents in the next year? 
b. At most 1 accident in the next 5 months?

4. The probability distribution for the number of defective items in a random sample is as follows:

	x
	0
	1
	2
	3
	4

	p(x)
	.35
	.39
	.19
	.06
	.01


Calculate the expected value, variance and standard deviation for X. 
